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void swap(int a, int b)
{
int temp=a;
a=b;
b=temp;
}
int main()
{
int a=3,b=5;
swap(a,b);

printf("%d %d", a, b);

)
a=3 b=5

void swap/(int “ptrl, int *ptr2)

{

}

int temp="ptrl;
“ptr1="ptr2;
“ptr2=temp;

int main()

{

}

int a=3,b=5;
swap(&a, &b);
printf("%d %d", a, b);

a=5 b=3
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#include <stdio.h>
int main()
=

char b[6];
| b=a;
return O;

)

Error!

char a[6]="Hello";

1 | #include <stdio.h>
2 | int main()
3 &
4 char a[6]="Hello";
5 char “b=a;
6 printf("b: %s", b);
7t return O;
8 1))

b: Hello
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« Decimal (T#EfI) : 1234 =1 %103 + 2% 10%2 + 3 x 101 + 4 x 10°
e Binary (—_#EMI) : 1011, = 1% 23+ 0% 22+ 1 %21 + 1 % 20

* Hexadecimal (1 7N3#E1) :
0x19AF =1 %163 +9 x16% + 10 * 161 + 15 * 16Y
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0000 0 0
0001 1 1
0010 2 2
0011 3 3
0100 A 4
0101 5 5
0110 6 6
0111 7 !
1000 8 8
1001 \ 9
1010 10 A
1011 11 B
1100 12 C
1101 13 D
1110 14 E
1111 15 F
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0x00 0x01 0x02 0x03 0x04

0x05 0x06 0x07 0x08 0x09
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int a=3;

Step 1. BT E] AT LU BORS -
Step 2. A% a4 fi

Step 3. FHEFA

Oxff a 5
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a++;
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Oxff a 5+1
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*sizeof (int) = 4 bytes
*sizeof (float) = 8 bytes
*sizeof (double) = 8 bytes
*sizeof (char) = 1 byte
*sizeof(pointer) = 8 bytes



NULL vs nullptr

([

C A NULL, = 2ZEfaiE

- C++ WY NULL , ST 2] -

*C ++ 11 Anullptr, B &2 {61

ot < VRS AR 2SR AR, A

THJ0

INULL, £ C++

inullptr
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int 1i;
1=53

int *iptr;
*iptr=1i;

int 1i;
1=53

int *iptr;
iptr=8i;

int i=5;
int *iptr=8&i;
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int main()
r

1
int i,k;
int *iptrl, *iptr2;
scanf("%d", &1i);
iptrl=8i;
iptr2=iptrl; :
orintf (~&i-%p\n", 81); BTN
printf("iptri=¥p\n", iptrl); * &
printf("&iptri=Xp\n", &iptrl); | mEZE 5
printf("iptr2=¥p\n", iptr2); e
printf("&iptr2=Xp\n", &iptr2); iptrl 5 a b
£ ol iptr2 5 a C
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int main()

7
L

int i,k;

int *iptrl, **iptr2;
scanf("%d", &1i);
iptrl=8i;

iptr2=8iptrl; :
printf("ki-%p\n", §1); WA W Bkt
i &

printf("iptri=¥p\n", iptrl);

printf("&iptri=Xp\n", &iptrl); i mET= g 5
printf("iptr2=%p\n", iptr2); _

printf("&iptr2=¥p\n", &iptr2); iptrl > a b
return @; iptr2 a b C
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int main()
{
int a=3,b=5;
int *ptr1=4&a;
int “ptr2=&b;
int temp="ptrl;
“ptr1="ptr2;
*ptr2=Itemp;
printf("%d %d\n", a, b);
printf("%d %d\n", *ptr1, *ptr2);
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int main()

{
int a=3,b=5;
int “ptr1=&a; a=3
int “ptr2=&b; —
int “temp=ptri; b=5
ptr1=ptr2: *ptr1=5
ptr2=temp; *ptr2=3

printf("%d %d\n", a, b);
printf("%d %d\n", *ptr1, *ptr2):
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int V[3] =11,2,3};

int *p|

3]

={&v[@],&v[1],8&v[2]};

for(int 1—8,1<3,1++)

* :
p[1]

1

1=2;
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int a[5]={1,2,3,4,5}; int a[5]={1,2,3,4,5}; int a[5]={1,2,3,4,5};
int *ptr; int *ptr; int *ptr;
ptr=&(a[e]); Wl v L ptr=a;

int 3[5]={1,2,3,4,5}3 il‘lt a[S]={1’2’3’4,S}3

int *ptr=&(a[@]); int *ptr=a;
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int V[3]={1,2,3}3
int *p=v;
for(int i=8;i<3;i++)

p[1]=@;
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int V[3]={1,2,3}3
int *p=v;
for(int i=8;i<3;i++)

{

*p=0;

p++;

3
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https://neoj.sprout.tw/problem/8857/
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